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Scctal (MATLAR)

0001 // exp_At.sce i ) ) I , U
0002 clc jrastasa(r> grofrald L 8avar
0003 A =[ 0 1;-2 -3] " -

0004 t=1 12 & - Losal .y , . )

0005 exp_At=expm(A*t) \\ <\k'_—ﬁk . fﬁéb\} Celf .Effigfi( ) )

0006 - \\\\\\\\\__~
0007 1I=[ 1 O0O; O 1];

0008 Ak=1

0009 sum=Ak

0010 for k=1:10

0011 k

0012 Ak=(A*t)*Ak;

0013 SUM = SUM + Ak/factorial(k)
0014 end



// exp_At.sce
L

cle
A=[0 1;-2 -3]
t=1
exp_At=expm (A*t)

I=[ 1 0; 0 11;
Ak=I
SUM=Ak
for k=1:10
k
Ak= (A*t) *Ak
SUM=SUM + Ak/factorial (k)
end

i

1.

-->exp_At=expm(A*t)

exp At =
0.6004236 0.2325442
- 0.4650883 - 0.0972089

-->I=( 1 0; 0 1);

-->Ak=I

Ak =
1 O
0. 1

-->SUM=Ak
SuM =
1. 0.
0. 1.
-->for k=1:10
-—> k
--> Ak=(A*t) *Ak;
== SUM = SUM +

Ak/factorial (k)

-->end

= 1.3333333

0.4166667
- 0.0833333

0.5805556
- 0.425

0.6055556
- 0.4753968

0.6666667
..

0.0416667
0.2916667

0.3
0.2333333

0.2125
0.0569444

0.2376984
0.1075397

k = 8.

suM =
0.5992560 0.2313740
- 0.4627480 - 0.0948661
kK = 9.
SUM =
0.6006614 0.2327822
- 0.4655644 - 0.0976852
k = 18,
s =
0.6003797 0.2325003
- 0.4650006 - 0.0971211
exp At =
0.6004236 0.2325442
- 0.4650883 - 0.0972089




